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AR-BT

- BHR1E 1 4, BVRE 1 4, BHR2E 1 14, BHR3E

. : 200A
. 1
BL (Tm) | Iset(l) Vset(V) | Vmax(V) 1 1
(rad) (kW)
(Ohm) (kW)
BHR1E | 0.09194 | 0.9440 151.881 | 93.0 210.0 0.15308 | 3.5312 14,1249 | 4
BVRE 0.07711 | 0.7917 126.867 | 80.0 140.0 0.15764 | 2.5373 10.1493 | 4
BHR2E | 0.11045 | 1.1340 183.619 | 400.0 530.0 0.15560 | 5.2462 73.4476 | 14
BHR3E | 0.11145 | 1.1443 185.797 | 31.0 50.0 0.16684 | 5.7597 5.7597 1
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AR-BT 4

. : 10
o : 30A 120 (turn/pole)
K1 B’L (T) Iset(l) Vset(V) | Vmax(V) 1 1
(W)
(Ohm) (W)

QRD1 -0.14594 | 1.498 8.249 7.0 25.0 0.424 28.873 o7.747
QRF2 0.32010 | 3.286 18.692 9.0 16.0 0.481 168.233 | 168.233
QRF3 0.22463 | 2.306 12.932 6.1 25.0 0.471 78.886 78.886
QRDA4 -0.24654 | 2.531 14.246 12.5 25.0 0.438 89.041 178.082
QRF5 0.26642 | 2.735 15.442 1.2 25.0 0.466 111.188 | 111.188
QRF6 -0.36529 | 3.750 21.450 10.0 25.0 0.466 214,501 | 214.501
QRO1 0.32770 | 3.364 19.155 39.0 110.0 0.407 149.409 | 747.045
QRO2 0.30623 | 3.144 17.849 20.1 110.0 0.375 119.594 | 358.784
QROF3 | 0.36822 | 3.780 21.629 10.4 16.0 0.480 224,951 | 224.951
QROD3 | -0.16646 | 1.709 9.465 4.4 16.0 0.464 41.646 41.646




AR-BT 4

Excitation Curve (AR-BT, Quadrupole Magnet)
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BL

B : BHR3E
:0.1114 rad
:1.2192 Tm at 200.0A
0 3.2793 GeV

3.25GeV

3.1GeV



3.7GeV

(Gap =

34mm)

BL (Tm) Iset (A) Vset (V) Vmax (V) 1
rad) (Q) (kW)
(kW)
BHR1E 1 4 0.091941 4 113473 183.6679 112.4638 210 0.15308 20.65599 5.163997
BVRE14 0.077116 4 0951757 1529515 96.44821 140 0.157645 14.7519 3.687974
BHR2E 1 1 0.110455 14 1.363225 237.1824| 516.6832 530/ 0.155602 1225482 8.75344
BHR3E 0.111456 1 1375574 2415931 40.30948 50 0.166849 9.738491 9.738491

p = 3.7GeV

0.111rad
1.38 Tm (BHR3E)
242 A (BHR3E)



3.7GeV

A

K1 B'L (T) Iset (A) Vset (V) Vmax (V) 1 1

(Q) (W)
(W)
ORD112 -0.14594 2 1801197 9.997182 8.482838 25 0424261 84.80448 42.40224
ORF2 0.320107 1 3950719 22.64858 10.90471 16 0481474 2469763 246.9763
ORF3 0.224637 1 2772441 15.65975 7.386563 25 0471691 115.6717 1156717
QORD4 1 2 -0.24655 2 3.042876 17.25171 15.13671 25 0438702 261.1341 130.5671
ORF5 0.266425 1 3.288183 18.7015 8.719315 25 0466236 163.0643 163.0643
QRF6 -0.3653 1 4508449 26.05354 12.14609 25 0466197 316.4486 316.4486
QRO1 0.327709 5 4.044542 23.21391 47.26397 110 0.407204 1097.182 219.4363
QRO2 0.306232 3 3.779476| 21.62226 24.34777 110 0.37535 526.4538 175.4846
QROF3 0.368229 1 4544635 26.27889 12.63527 16/ 0.480814 332.0408 332.0408
QROD3 -0.16646 1 2054477 11.4656 5.330005 16 0.464869 61.11168 61.11168
p=37GeV

K1:0.682 (1/m)
- 4.54 (T/m) (QROF3)

1 26.28 (A) (QROF3)
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Dipole Magnet [or AR-BT {3.7GeV), SUYP
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Magnetic field from Poisson run on file ARBT_G28_1.AM

Problem title line 1: Dipole Magnet for AR-BT ({(3.7GeV), SUYP
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